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cung cap thdng tin hd tro diém 3
ra quyét dinh cau la
1.2d)
Tu luan 15% Cau 3 1d P13.2
Trinh bay hiéu qua céc sb X 1d
CLO4 | ligu bang bicuhdtronha | Ty juan | 300 | “UEL | gsa | pis2
quan ly ra quyét dinh - Caul3

I11. Noi dung cau héi thi '

PHAN TRAC NGHIEM (15 cau — 6 diém- 0.4d/ciu)

Caul

ANC company wishes to minimise its inventory costs. Order costs are $20 per order and
holding costs are $0.20 per unit per month. ANC Co estimates annual demand to be 1,350
units. What is the economic order quantity

A. 150 units

B. 22,500 units

C. 100 units

D. 520 units.

ANSWER: A

Cau 2

Data relating to a particular stores item are as follows:
Average daily usage 350 units
Maximum daily usage 400 units
Minimum daily usage 320 units
Lead time for replenishment of inventory 5to 7 days
Reorder quantity 3,000 units

What is the reorder level (in units) which avoids stockouts (running out of inventory)?
A. 2,800

B. 1,600

C. 2,450

D. 3,000

ANSWER: A

Cau 3

A company had 80 direct production employees at the beginning of last year and 70 direct
production employees at the end of the year. During the year, a total of 19 direct production
employees had left the company to work for a local competitor. What is the labour turnover
rate for last year?

A.12.0%

B. 20.0%

C. 25.33%

D. 13.33%

Céau4

The following data relate to work in the finishing department of a certain factory.
Normal working day 8 hours

Basic rate of pay per hour $4

Standard time allowed to produce 1 unit 5 minutes
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Premium bonus payable at the basic rate 50% of time saved
On a particular day one employee finishes 120 units. What is his gross pay for the day?
A. 36
B. 32
C. 40
D. 30
ANSWER: A

Cau 5:

Under-absorbed overheads occur when

A. Actual overheads exceed absorbed overheads

B. Absorbed overheads exceed budgeted overheads
C. Absorbed overheads exceed actual overheads.
D. Actual overheads exceed budgeted overheads
ANSWER: A

Céau 6
The following data is available for a paint department for the latest period.
Budgeted production overhead $200,000

Actual production overhead $180,000
Budgeted machine hours 50,000
Actual machine hours 48,000

Which of the following statements is correct?

A. Overhead was $12,000 over absorbed

B. Overhead was $20,000 over absorbed

C. Overhead was $12,000 under absorbed

D. There was no under or over absorption of overhead
ANSWER: A

Cau7
ABC Co has two service centres serving two production departments. Overhead costs
apportioned to each department are as follows.

Production departments  Service centres
Mixing Stirring Stores Canteen
$ $ $ $

Allocated and apportioned overheads 200,000 100,000 80,000 40,000

Estimated work done by the service centres for other departments
- Stores 50% 30% 0 20%
- Canteen 45% 45% 10% O
The business uses the step down method of apportionment.
After the apportionment of the service centres to the production departments, what will the
total overhead cost be for the mixing department?
A. $268,000
B. $278,000
C. $258,000
D. $288,000

Trang 3/8



BM-003
ANSWER: A

Céu 8:

A company has established a marginal costing profit of $85,000. Opening inventory was
1,200 units and closing inventory is 1,500 units. The fixed production overhead absorption
rate has been calculated as $5/unit.

What was the profit under absorption costing?

A. $86,500

B. $83,500

C. $85,000

D. $85,300

ANSWER: A

Céau9
Which of the following is a feasible value for the correlation coefficient?

1. +0.85

2. +1.02

3. -0.78

4. 0
A.1,3and 4 only
B.1and 2 only
C.3and 4 only
D.1,2,3and 4
ANSWER: A

Céu 10:

Monthly sales have been found to follow a linear trend of y(T) = 10.5 + 5.2x, where y is the
number of items sold and x is the number of the month. Monthly deviations from the trend
have been calculated and follow an additive model. In month 15, the seasonal variation is
estimated to be plus 6. What is the forecast number of items to be sold in month 15?

A.94.5

B. 88.5

C.825

D. 93

ANSWER: A

Céau 11

If a single sum of $25,000 is invested at 7.5% per annum with interest compounded
quarterly, what is the amount to which the principal will have grown by the end of year
three? (approximately)

A. $31,243

B. $31,057

C. $15,219

D. $30,924

ANSWER: A

Cau 12
Project X has the following cash flows.

Year Cash flows
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$

0 (300,000)

1 100,000

2 120,000

3 60,000

4 40,000

5 50,000
What is the non-discounted payback period of Project X?
A. 3 years and 6 months
B. 3 years and 9 months
C. 3 years and 4 months
D. 3 years and 3 months
ANSWER: A

Cau 13

A company had opening inventory of 8,500 units and closing inventory of 5,500 units.
Profits based on marginal costing were $153,000 and on absorption costing were $132,000.
What is the fixed overhead absorption rate per unit?

A. $7.00

B. $3.82

C. $6.50

D. $95

ANSWER: A

Cau 14

A company manufactures and sells a single product. For this month the budgeted fixed
production overheads are $38,000, budgeted production is 10,000 units and budgeted sales
are 9,000 units. The company currently uses absorption costing. If the company used
marginal costing principles instead of absorption costing for this month, what would be the
effect on the budgeted profit?

A. $3,800 lower

B. $3,800 higher

C. $4,222 higher

D. $4,222 lower

ANSWER: A

Cau 15
A company manufactures two joint products, A and B, in a common process. Data for June
are as follows.

$
Opening inventory 2,000
Direct materials added 15,000
Conversion costs 23,000
Closing inventory 4,000

Production
Units

A 3,000

B 6,500

Sales Sales price
Units  $ per unit
2,000 20
5,000 10
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If costs are apportioned between joint products on a sales value basis, what was the cost per
unit of product B in June?
A. $2.88
B. $5.76
C. $4
D.$25
ANSWER: A

PHAN TU LUAN (3 cau- 4 diém)

Cau héi 1: (2 diém)
The following information relates to a four-year project.

Initial investment ~ $15,000

Cash inflow Year 1 $7,000

Cash inflow Year 2 $5,500

Cash inflow Year 3 $4,000

Cash inflow Year 4 $3,500

Cost of capital 12%

Required:
1. What is the net present value (NPV) of the project (1.0d)

2. What is the discounted payback period of the project (0.5d)
3. Following NPV, Should this project be done?(0.5d)

Cau héi 2: (1 diém)
The re-order level of Material M is 2,400 kg and the order quantity is 1,500 kg. Lead times
and usage are as follows:
Lead time
minimum 1 week
maximum 3 week
average 2 week
Usage
minimum 500 kg per week
maximum 800 kg per week
average 650 kg per week

Required:
1. Based on the data above, what is the maximum inventory control level of Material M?

(0.5d)
2. What is the minimum inventory control level of Material M? (0.5d)

Cau héi 3: (1 diém)
The overhead absorption rate for product Y is $4 per direct labour hour. Each unit of Y
requires 2 direct labour hours. Inventory of product Y at the beginning of the month was

500 units and at the end of the month was 420 units.

Required:
What is the difference in the profits reported for the month using absorption costing

compared with marginal costing?
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Phan N@i dung dap an Thang | Ghi
cau diém | cha
héi

I. Tric nghiém 6.0

Céau 0.4d/

1- cau

15

Il. Tw luan 4.0

Cau | 1.1 The net present value (NPV) of the project 1d

1

Time Cash flow Discount factor PV

1 (15,000) 1 (15,000)

1 7,000 0.893 6,251.0

2 5,500 0.797 4,383.5

3 4,000 0.712 2,848.0

4 3,500 0.636 2,226.0

NPV 708.5
(0.5d) (0.5d)
1.2 The discounted payback period of Project 0.5d
Discount Cummulative cash
Time Cash flow factor PV flow

1 (15,000) 1 (15,000)

1 7,000 0.893 6,251.0 (8,749.0)

2 5,500 0.797 4,383.5 (4,365.5)

3 4,000 0.712 2,848.0 (1,517.5)

4 3,500 0.636 2,226.0 708.5

(0.25d)

The discounted payback period of Project is Between 3 and 4 years
(0.254d)
1.3 Project should be undertaken because the NPV of Project greater 0.5d
than 0, that means the project is profitable

Cau | 2.1 The maximum inventory control level of Material M 0.5d

2 = Reorder level + Reorder quantity —(Min usage *Min leadtime)

= 2,400+1,500-(500*1)=3,400 units

2.2 The minimum inventory control level of Material M 0.5d

= Reorder level-(Average usage * Average leadtime)

= 2,400-(650*2)=1,100 units
Cau | The overhead absorption rate per unit for product Y =4*2=8 $/unit 1d
3 The difference in the profits reported for the month using absorption

costing compared with marginal costing = OAR*|Closing-opening| =

8*(500-420)=640 $

Opening < closing => The absorption costing profit would be $640 less

Piém tong | 10.0
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